Vaxand
| B e =] 3 == 18 P
___HiEn  3AE B 8 X (2 B SRM5E11H298) ERBEBAREAE BHRje: (ABDIKA BIMTFE 1000 DRCCENE
s B | m 8= ®[EU Ef THMOEE  FT7[E g1
E B oe g DL ET mlEE oL, mEE o # L = = £
& Ei # |2 E® 2 U 5w e & |, ®=* 2@ 13 2 1E H)
X ICTE) BEE: B (=] 127 2201 B
1 tE) o5 | 112 & X B 211 |4|®| & B X & |B|7]|0] B & BAZ | | 2P 5
o Pl m |20 8 B E O |ELR S|l w o= s 24 0 =<1 I\ 3 xr A ~ N
£ : e M| s Is [YX 75t +H S )— F
= = 000
z 2EME 2227 530 28HE 2~7 750 P 1,105, 700 # !
£ | 3% 22527 470 3@EE 2~7~5 1200 3EH 9, 472, 900
B|J4(4F 227 210 225 200 5=7 420 ' 24 b 250, 300 ~ RN
A R (EE) 11| A% % # |8 122 2203 — =k 11, 904, 400 O) jj —_—
AR EE R I IR ERRIRE - ° . JLA
—rrmanlclols g E x| s 6l®l x & & & |8 25 oo | B NirFEERIZ Bl 400m AGLER: 61.5m T =FRNMRTH
i > 3 ’ N = S P
g iig 1:7 1,190 2HE 1~7 1,700 322 17303, 300 géié"‘*]ﬁ#‘—ﬁﬁia)ﬁ{i REZEMEHD( 0k IET—ILTZEL,
=38 2327 4,880 ; o= - 3 13, 356, 700 /-\ s A s
B[O4F 127 520 1=3_550 SRR SRR 5% UZI 237, 500 L—RIZBEVWT 2B 2R BEDRETESVFEADTI RIS,
3 A%&(f’alﬁl) 10 ;% 3 g s § (122 2206 [4|®] 4 N X B | B|7[@] M # 3h 2;»:; 16,427 oog EETEFRECS O TIRBBERE (12— Fa L) TRELT Y.
& ERLIRE 50| & B X % i 5
1625mB§ mi3ld A B & = i K il 218 0 . = -
N T ® # B = |S g;ﬁ 1%3,%00 L—Xx gi%;ﬁ B OF L |Flamw gﬁ £y —z@ﬁﬁﬁ & R ’ RYF s|B TR R o
R | 284 225 220 2BE 2~5 990 3@ 1591 400 %l | N — 112/3/4/5/6[@x%[#* @ = 7[T[K Bl 2 [ A Hs (FA)
 liraw 3 LT LN SE (R o o g e Ao . 53l6 61 [o[2[n[ET 138 [0 1
=5 140 227220 =7 170 : | 800 % = A iR - i )
4 "B o1 S BN E; E 5 P2 (G ERRE[ [ ET R —— 19,281, 100 gp B AR §®'"‘§m b B A R B.olo[1]ofo[o|EE B x5 “m % o
; B K |y 14 s|@ # £ @l i - B ©lFIE]E - —|4oltx 83.13 '
1,625 B’ b 2 fBE 0 N 2 = & E| 88(3.92 - F1)iIl 5 2® 5
. mi| m 3@ # B ot x| | i Blolo| & ¥ — i 254 514, 800 - T & 4@;A?E =5 % = - si]910]9 1] 1]O]riewm 5 4 ik
= oEE 226 _ 2$$ 1,522 000 T EIRIE=S i a2 1-§43j( 42| 8713.92 84.20 ololsl3l3lo 2@ w672
E =2 2,680 288 6~2 12,140 3@E 1,661, 800 f"* TR 250 F2 #40H 5 2 6
% [s@ig 2=3=6 1,160 3EM 6~2~3 26720 3R 17,137, 200 &~ # SO1E VL 1| g EZplaofE s 78[3.92 86.8010 o|3[1|1]|o|HEZ 1S ¢
3 [74F 226 630 326 580 T=5 200 : 24K 450’ 900 eE® [ ol Alle " 2 e - 81122 Fi/MsB 3@ 5
EACID) 3 = 7 = &85 21,286, 700 B x| 9 A — =5IE K| 723.83 F2oERE 7 5 6
5|, % MR B RHE Rt N - -4 i 0 2 1,625m 6®*&A1‘33‘7 B E37$%m1073 S 010]2]0]1[0]r il 7 3 4
X m m |3 4 + 0 = =2 VMY 13 .92 . FI ¥ 6 3 1
i . Glm B M=) |i6 B 2k 440,000 —C % 110130 17y #k s thSTAS 37|41 11010]15(7Fie mxx
(228 225 160 258 5~2 190 F T 1066, 400 (7 #3L)
% [3@H 22325 500 BE 5~ 3EE 18,124 900 5#3E10:43
3EE 5~2~3 2,410 : 640 \
B [D4F 225 100 325 210 2=3 140 : 24 b 649, 000
S %&(ﬁ@) 1 = 3 — =X 21, 668, 500 % Ao 19 —
6 KHEEEE-E 15 G N - 2hE I 2 NCERE T T %1810 3] 1] 2|5 1|2 P 3 01 ORIED
2025mB= m |3 T OfE R 7 2 #8 0 748 vuims = 7 '
- ® 7 1 m F | | mE 2% 381700 A %E A 2®%éé i) {EAER|6E % 59)3.92 S EIR R [ - % %'8
=288 3=4 550 _ — . , 315,700 g 3lel# IS - = 257 -
& | 38 32425 450 izi j~2~5 2%8 SEE_ 1;13%1388 F E - i:?f W”" HOABE F1235 9 873816 8] 0[1]0]0]13 F%ﬁﬁt 39%551 *ER
B |74 F 324 150 425 450 =5 220 ' o4k 315, 600 33t % 4@|5 7l a H ;ﬁm?ﬁi%m 7413.85 82.57[olol5 2[5loF1®a 55 11
SHEE |1, 1@ E @ B & |E]| 120 3013 [4]0] B % B & = 280001 B 5 NG = = ey
7| =% |"Ozle| % B oo % |w| i MEEE-EEE: 2R 0 Ie5 O 1 # 1R BHBE =) 90392 5,330 0]2|3]6[0|nE EC2 ¢
205 mBi| m |3\ B b % @ | | s4% 6ol B @ E 2 0 A (EEED) N — . 238 P2 15 1@ 4
i — cxr o) B w| | m B SR SR i
R|2%8 426 150 2BE 4~6 3 1,909, 000 L e = 548 = ETR
2 [s@@ 12426 340 SE 4~6~ 260 3@E 21,198, 300 [j: *x BoHT G G E54F M) 64393 82034 olol2|o|1]|o|2% B3®
B[0AF 426 110 1=4_190 ST T 1 UZ-'“ 486,700 #on:07 (75 - LS
S %% (e@E) 1 T 5 =3 — - _ =1 25, 843, 700 . . 7 HiT
g| " Bw 1.02%7%’2&%%% s.oz.leg%:,;gfgg 70| B @ E = PEeT ] 5 ﬁ 21111 31)
: 2,05 miE| m |3|@| twi B # | |5 6lo| T # & s s 126,900 %l |
, 3 , INEEIE
R|[288 1=4 320 258 1~4 970 T 2569, 000 JE E1®E I - -l L B 85,26010]3]3[1]0]F Brit & 53 ©  113.0
2 (3@l 124=6 570 S T4 3@ 27,917, 800 % 2@\=| Al ey = " 9271 - @ 8.0
o4 F 1=4 160 =6 T SEE 141663]0 2. 950 24 K 489,100 —_ f‘éﬁ A & o iuﬁﬂ E&E—% K[ 2123]3 92 2,000/ 6|00 8|14[EE"T 154 ® 150
3%&(9&@) 3 T = = = &5 34,171, 000 ~— . 7| 7|1 —|38i5 113(3.92 86. 48 TENE
9 T EEEIE e TG LR B T R T 2 o} I~ My ol m o e al sl gii. | e
0 ZOZSmF ml3|®D I E & X BN S 6@,4:%%5; ggz 954208 = ] 4@)% 1 h 3 46k B| 82/3.93 863%008120,@%#3@35
: ’ BIEE 74V - | /3 7 3
R [288 4=5 330 258 5~4 120 T 5 773, 100 H SO )| A @ 8 m| 78392 9470 o[1]ofojo[HE #5428
% [38# 12425 360 e 3@ 29 294, 700 L (5 EBEE) o A2y - ' = 4.4
E o F 225 170 —s SEE S~a~1 740 27 £ 542. 200 Z| | esm G@ﬁim* _H H BE[iE 5| 92(3.86 63810lojojof1]|o|E¥= 257
S = = & 35, 958, 100 ' % T
10 BOE 1] ][O0 B & (E[ 15 zugs [4[G[F & @ & [7]6] @R E & | 8| 288 0 677 B Dl "m o E %) 99]392 80.1610 | 2(0(2|2|1|HY 2552
2,005 mes| m |50 B 0 A |18 Slolh o & o 24 0 #5111:35 - 5336
h - i 2,661 500 gxiag (7FD)
R[28# 124 360 258 1~4 70 384 2,751, 100 :
% 3 12427 900 3EE 1~4~7 2290 3EE 29, 880, 300 E3 IR
B [O4F 124 170 =7 %0 =7 520 24 & 600 L i||1 @|A| 5 5B BE AME ®mj21jse % 531g|5l0f0f5|122E 2100 ®  113.0
A%&(f’ﬁlﬁl) 10l 1|@] % = B fF [#] 118 2182[S [4]®] % B & X Tl & B = — 601, 500 % TN S— 875 ZB100 ’
11 2 2G| B & £ (4|48 PR R 214 0 2 2(2|& 5 B % R4 m| 79302 86, 00 P2 mRE 4 2 8 @ 810
1625mB§m3@-_a,~§§,§*§ it g%%ﬁéf B 2 i 0 cJ: B AR YA — 0333|0161 2|1 T|Femae7 ® 150
2 - TTS Il g EICT 10 AP\ g0 [ols o[soTi 5557 | +vm
RE|28# 225 660 — 33 el . ARl V95 — h 2442
% [l 2=4=5 2,030 §§§ §~2~4 4328 s 45 284,800 j " 4@= 2t Fx (EABRYT X 8439 SI81212|3 0f 1|4 S S 2
3[04 F 225 310 224320 = : o4k 604, 300 5@l A A -
S =5 920 P~ 53858 200 O n = 7 > F5|8E | 76[3.92 84.5410l0l0l4l5]0|R22 B3®2
BEER) | 0| 1]1@| EAK = [#] 115 3.00.1 416 & H B 71D B & - — (4 BEE) A, T = . 166 fl_+ 632
12| = @ 2@ & K 5 B |5 +8 513 % m o = A A & 2 | B2HA 0 HEE G| 5 E w & 28F  JII|121(3.92 80. 16 Fid & 762
205 miE| m |a|l@| W 0 B & | |15 2 E B EE 2 o 1 625 m 6® 25 Y R fE12 : 0.88f1]o]o|0fof3]|HE 2752
#h : 1299, ’ BAGK R 4= =(6® 4105 88,45
n — 2HE 5. 742, 200 = 2K A g FPS6E 105392 olo|5[3]|1|o|HN & T®2
HE e e — g apm 12 09 S
% =iz S o RitS -
B[OA4F 224 170 227 260 SRR 2 177560 1. 360 o4F 630, 000 FE12:07 (7 #31)
= % 80, 899, 400




H H DR

Zm

N3

S ¥ B O RS

i

O B

H* A ISR

ok

& A

RYF

EEEH

L—2 [ZEl5s & F & Jess v 34 wxs (EHEG| T K| meEmms REEFR
1®E| \BE B B mosF x| 973392 90Tl ]al1|0]4|2|HEeE2S g Egg
A 4 2@%?4“ :’ﬁq g843(= E| 84[3.92 Salol11317]3|0|BuebS ® 9.0
oes SOFRER B A0E 8530 89.8210104|3|11|0|BFF9% A EH
d@ErE " m # th2E @/1193.92 985,905 42/2[1]9]|H T 858
5e\% 4 TE sla4E )| 87(3.93 8. 08lolola|5|1|1]|B8 2835

(GEeREE) 6@.@?1}"_,* s 3 pebis m| 70[ses 86.661010/6(3]40 Egﬁ} HR
s Vol i3 g men =)o wgilo a}7 [+]o]a% 5318

#He012:32

S I

- 6 MR e 56.816l10/2| 1]o|B|EN BT1 Do
L 4 2@%%%‘1% Tz ThP3E B[1223.71 “aslolofofolt]o|Bm ES e ® 550
5% 1 3| Tk T oz mnE anepRn 2900/4|2|3|4|1|B0E228 PES

4@im T % fm ppom mpa oagloofofo[ 1[0 B e
5o sy & meE s 0.8lo1]2|3|4|2|PE Ee3 8

(1 6125@m) 6@ﬁi};°’;% = E20= E|118[3.79 :??é o/1]ol1|o]1 Ei%:ﬁ??ﬁ
’ @7 O =PIk #102(3.77 6192 4|3[4|0|4]r % 11 @

##t013:03

gxi13:07 (7FD)

- 7 AR L 5.2313 18 4l0]0[3|EA §398 o
g PERK B zemep Sg[o[olols[o[1[BEB228 o o
5% 1 3B|# Ak B mREE (110377 “B3310lof2(1|4|olBl 23z e PES

delatlE B 3 oz @i 0.200f0lolof1[o|EN ES5E
56| |5~ 3 sea 41 3(1063.77 5a2lols| 1|0 1|0|EE 558

B ol % i wen Tl o[ [ [2[E 8259
vasm Pl T gt mE mmfe sgelo]0 o o o o[2 & T s

#HN13:34

gigag (7RL)

- 8 HEEHEN e %28137/6/0[9|5|85 Eale° g 2100
s @ 2@%3}]’\”€E K E29E #[103[3.92 99,91113/3|0]1]1 E}Eg};;‘ ® 1450
= w [3OFSE B — e & e 108,0%10]3|5[1]|ofofF 2 B39 *

AolES=E s g g uE | (3.9 10188101 1/3(0[5|0ff1Z 299
5o 1 O #& v = 8039 100,880l 0|3[3]|1]0|f 5 s 3an

(GEeRE:E) 6@.:@3"[;”);—{.’”2& T FofE | 70[3.92 92.7600l0f0]ofo|o|HE ESe7
2o | lolelfle T p AjsE w whe “igglool ]2 r]olHEAess

#Ht14:06

gx14t0| (7FD)

- BIE Y T FRTTEF30S ~ - E—ZUJBME MR FRI8RF205 ~ nEEEBRC55H5
EHEECHASAARICE. T A— FOL—RBEE - kU ECHBEEL, & ]
 EREENOMIE. FEY - AERELTEEL L, ¥ -
cFoOFTSHTHE, BRETOLHERBOELEE CHATEET, @ i
CARBMEH 1 28y TETHANEDE XL, 2 X

MKEHOBALT2REICHE>THL, HHWITEEIZELAFEL £, %wes:mua!-’&?’

A of A

B om B

53

H $# A

Zm

N

el ¥ A ISR

A of A

B m R

53

L—2 |3 5[5 F A e B vl el ans R[]k memam HE (TR
Bl = F % & oo T S 3 Y A
N T AL N 3 R w025 a1 oo BB 422 |o 1o
= @ 3OS R "B g a0 e 9.8310/0(0|1]|0|0|F E=E 28 SEM | iz
AoESE "m w wpe s er]s0 %5200 0/0[1]|1[o[HE B2z
O 3E Kk — EE B[00 08004 1] 1]o]GEETES .

(RoRE) 6@#@3“};””@; = a5 | 83[3.92 B3lololol2fofo|hEZE2T2,
vom Oolalsie " g gon s 50387 o o1 [a o] E% 3 1
#Htn14:38
gl (7TFD

10 _HEEN I e o Ogi[1[4[o[o]2[u[FiE*5 85 [0 200
S 1 2@%3%’”? & Z|M0F | 93)3.92 9.3310(0/3]0[3|0|HE B XB28M |5 1450
2" BEplE % & mox mwie wmlolo[[o[o[1[E 8225 | res

4@iE s H OB thpom =339 4380102 1]6[4[& mem o 0 o 1
56 5k "t es |46z 84]3.92 1.8%lolo|2|0|2|0|HEFE S 23

CRRE) 6@?@3% "H Z= #r m| osfs e it CIRNEAC KA 3 R
vosm |951e S R e maie oo w8 o o3 1|1 [0 22900
#HE015:11
sisiis| (7 ®L)

11 S e e Bl [o] [ofEEg 126, [0 207
S & 2®%§:ﬁr MZIK HZISOM | 94)3 92 Ol |4 1 SR a T |@  wso
s o BOFSE B & —mm B o3 Mag[8]3 )1 o1 7]FEm 77 3 *

Ve E w + s x e w10 [o[sle[2[o]s 5908
SEjm SR Bt #p= ®| 9739 *$8]0]0/3]0[3[0|Gmem a5 58

RIREE) 6@#@3”?’”’2& 5 K9S | 01392 o8] 0|0 0] 0]0f0|G Rarm 58 5 5
2| e S I s niop m] 89 T3lojo|2]2|2|0[HETR DS
#Ht15:46
1550 (7 ®L)

12 e RN e 16,7315 1 310(0[1]12 «" ©28 0 amwo
S %% 2@%?:.” ga/40/= B|111(3.93 1089111 (8|2|0f1]4 HQES%G; & 2070
pew [3EPE T 3 —|en m b g [o]o]s[2[o[o]n R 838 | =

d@E S B — sluE s 60 108001010 g(0[2]o|f R8O
5eE S Hk " Kk E[siE m|1093.02 106.1%12(4(2|0|1|5|HE EODY

R ol i 0 e 8] sl 1558 J0 o[ [4]o[o[R Aam 228
N I Y ot [2[a[s[o] 1 [s[52 2239
#Ht016:26
sei6:0] (7 FL)

BEGRERE4 ¥ ADFHR/RTY,
STR&E47ADRAE— MREPNHIREL., EEADRAICHITERKTY,
BKIZRIE4 ¥ BORENY IR MLy FE by TTEBLEZEIHRTY,
O X BEHE. 2R EEE. BR. RBOBIRE. OXHFERY. Eik (b5 LAY DEFIEZRLET .

I

x
_ | omALRREmAICEAL BRI RELRETEE A,

OXBEZOMDEHTHRERLNBENICEAHYET, £ AEHL—AOEHAERALEEE, hIETEIEABYET,
OFREEHAL THIEBRFOHELIUET CEABYET,
B | 08B ROICH-HEEONEIL. BREROTOHRRENET,




